MU0 TIVRIDT YRR DRI Q°rar noon MY AT TIHY My e

28.1.5
6a (179729 85 IX INIW 721 5 17192 175 N2YN) 2 7D (12108 1717 [0232 025079 71%77] DI 0257795)

78 8777:9Y 7929 19 DY) NYPD WRI HY T 0D .

N 877719920 Y92 NI DTN %9 DNV HY 1929 NAND HY DIY YINI IR RIN DT2 1IN W) 02
mep 97 9197 1090 VY 1921 100D WRI DY 117 1090 92 Y TUR 19¥2 i) .

w:r 4777292 TY NHN WP R HIR 127 D1 YRYY NTIR NIT WD .

25:7 %777 :099N MR VNY TYR DIPHA NRYDY ANR VDY) NRVYND YRI HY 3T NR 00 .

75:7 877 :19 MYV RON YR INRVN YY 1190 PPY 1931 N OYR HY NN DNR 109D VPN DNZWD NN 2YIN 29N 0P TYRI 1D AN YD NRY .
72:40 0727793 NIT WK NIT PIOR ‘N2 DI TYRI VYY) 10YN PNIY R¥In

r2:83 5P AR AT I R NAYIR DIYYY Nay .

L S N NV VN

I Continued analysis of status of j27p that was 1nwY X5w nan but is yet offered
a  question: do they generate 1192 for the sin that occasioned the offering?
i answer (*PA 777 7772 nwY “7): stands to reason that they do not; else, why bring the 2" one?
1 challenge: in that case,why bring the 1t one?
2w~ "1 what he was really asking was: if we accept the notion that the 1 is not 1931, we understand why it’s
brought — generated by the proper designation mw5; but if it is 1931, why bring the 2nd?
b Question: does a Ny 127p achieve atonement for MWy nen squandered post-designation?
i Lemmal: similar to nkon, which only expiates for sins commited pre-designation (and which occasioned it)
ii ~ Lemma2: dissimilar; nRon requires separate 127p for each sin; since Ny covers many, perhaps post-nw1an as well
1 Proposed solution: Rn»71 interpreting v. 1 — n2'no cannot generate n¥3, that is what o7 does (v. 2)
(a) Rather: means that if he disregarded n3mv and omitted it, considered as if he wasn’t 995nn — but he was
(i) Proposed meaning: he was 99311 for »”"n until nw19n, but not his omission of namo (post-nw1an)
(if) Challenge (837): he doesn’t “omit” until nYNWY; post-NYL’NY sins are not even under consideration
(iii) Suggestion to »37. perhaps 19’2 means “man has been [formally] cleansed”, 1972 8% — with God
1. As per: »m1 12 3Ny "v's application of v. 3 — he is formally complete, but 1972 XY —with God
2. Rejection: there, too, he is complete with minna jnn, but not the head (must refill oil and pour)
2 Proposed solution: w™ poses the question (in re: nRYN »PYW N9 for WTpNR NRMV) as to purpose of 2 NI¥Y YW1
(a) Since: first achieves 1193 for wTpn NNV, 2" comes for NkMY that occurred since offering of first
(b) Proving: that nkmv that took place post-designation is covered by this offering
(i) Rejection: if they were designated simultaneously, the question would be valid
1. But: the circumstance is when they were designated in sequence — and 1% only cleanses for
nrmo that occurred before its designation; 2nd covers nkmv that occurred after NWRY nwIan
a. Challenge: why doesn’t text tell us that they must (annually) be designated in sequence?
(c) Block (979): no proof from 2% n1117p, which are controlled by 7”2 *Rin
(i) Per: S®mw — all Mmax ma1p take on the identity as per the “knife’s” discretion
(ii) Challenge: v™ doesn’t accept the notion of 772 25
1. Proof: he holds (contra nnan) that “leftover” 11"nn cannot be redeemed nnonn
(d) Further block: question asked of 8t "1 — if he took b7 of n7%y 1YW MW in 2 Mo and sprinkled 1% — what
is purpose of sprinkling 2n4? Perhaps for nkm that occurred between the n1n mp»i?
(i) Note: he only asked about nkmv after nv’nY, but obviously after nwan is included
(if) Block (to this challenge): perhaps he was phrasing this as 9"nk and both were asked no resolution
II  nmnslaughtered nwY another man’s n1in
a 737 valid - v. 4 & nmin is a subset of D’nYW and not vice-versa=>nTIN DWY DNYY is invalid-> but nTIn DW> NN is valid
i Doesn’t this mean: even if it belongs to another
ii  Rejection: perhaps it means 9w nmn owY NN,
(@) Challenge: if so, should state y1an nTin WY TN and all the more so NN DVY DNHY
(b) Answer: 15w %Y DV NN needed; countering possibility that 1w "N DW5 DMWY is W), per inverse
b  »7pm ’7: invalid — must be offered for his own nnbw
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III Series of man by X317 regarding nnwb:

a

b

nron slaughtered nxron nwY is valid; Ny DwY is invalid
i Reason:v.5 demands that it be slaughtered nxon nv?
nron slaughtered for another who is also nkon 2»n — invalid; if "% 2N — valid
i Reason: v. 6 identifies n193 as 1YY, excluding Man Yy
1 But: 1an must be akin to him — nxon a»n
nron: slaughtered for someone who has no formal liability — invalid
i Reason: everyone has some liability for an nwy
1 Explanation: since he didn’t designate an 15, these sins are absolved via nxvn, considered "nxon 2mnn”
NRON: atones for NWY NNx¥n via 1" reasoning
i If: it can atone for mn», certainly it can atone for nwy »arn
1 Challenge: does this mean that 821 considers the m193 to be of a kind
(a) But: 821 taught that if offered for N5 2 nn — valid
2 Answer: although there isn’t full 1793 from the nwy without n%1p, partial n193 is obtained
n%y: that was slaughtered nnw> XYw may not have o7 sprinkled (or any other nT1ay) done nnw) RYw
i Source: may be text — v. 7, as presented above, or reasoning, as presented at the beginning of the 19
7151w brought posthumously
i K27 if w1Ip MY, invalid; but (INnW) 0'Yya Nwa - valid,
1  Reason: there are no nn'n MR Hya
it N 777 71792 D29 77 there are NN INRY DYV
1 Question (»wx ’7): does he mean that the heirs are full 0’5pa and they are liable to bring a replacement
(a) Or: that they achieve some partial n193?
2 Answer: heirs are full 9ya
now: is a gift
i Case: if the donor didn’t yet do n2ywn — invalid offering per v. 8
1 But if he did n21wn — not needed; as n21wn alone fully cleanses (immediately) for nwy nnyn
ii ~ Therefore: must be a pure gift, not an expiation
iii ~ Support: Rn»12 in which ™ explains why nxon (cleanses) precedes n»y (tribute)
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